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 01 
 

1.1 
 
 
 

 

 
1.2 
 
 
 
 

 
1.3 
 
 
 
 

 
1.4 
 
 
 
 

 
1.5 
 
 
 
 

 
 
1.6 
 
 
 
 

 
 
1.7 
 
 
 
 

 
 
 
 

 1.1.2
 104 ‒ 105 

: B 

 1.3.1

181 
: B 

  1.4.1

227 ‒ 232 
: C 

  3.1.2

 385 
: C 

 3.2.2
414 ‒ 420 

: A 

 4.1.1
433 

: B 

 5.1.1
516 

: D 
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1.8 
 
 
 
 

 
1.9 
 
 
 
 

 
1.10 
 
 
 
 

 

(2 x 10 = 20)
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 6.1.1
607 

: C 

 6.2.1
621 

: C 

 7.1.2
667/669/687/693 

: B 
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 02 
 

2.1 
 

 
 
 
 
 

( ) = 524,000 ‒ 32,000                       =   492,000 

( )
= 8,300 ‒ 6,500                              =        1,800 
= 492,000 ‒ 420,000                    =     72,000 

( )
( )

= 72,000/1,800                              =     40 
= 492,000 – (8,300 * 40)             =    160,000 

( ) = 8,700*40 + 160,000 + 32,000  = 540,000 

 
2.2 
 
 
 
  

. 2,100 
 (8 - 1) 

 7  
 (2,100/7) 

 .  300 
A = 2*300 

 .  600 
 B  = 3*300 

 . 900 

 
2.3 
 
 
 
 
 
 
 

= (2,500)*90%                                        =   2,250 
 = 2,250 – 2,100                                       =  150  

 
 = 2,500*10% *10     =     2,500 

= (90,000 ‒ 2,500 + 58,750 )/ 2,250                                =     .  65 
 

      =  65 *150                                    =          9,750 
(-)    = 150 * 10                                    =        (1,500) 

                  =  .  8,250 

 
 
 
 
 

   1.1.3
118 ‒ 121 

    1.3.1
182‒183/192‒196 

    1.4.2
250‒257 
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2.4 
 

 
 
 
 
 
(i) . 2,200   

Z                                       =  (2,200 ‒ 1,800)/ 380           =  1.053 
                                                                  = 0.3531 

 
2,200  = 0.5 – 0.3531                        = 0.1469  14.69% 

                                                                                     
(ii) . 1,200 . 2,000 

Z 1,200   = (1,200 ‒ 1,800)/380                             = 1.58 
                                                           = 0.4429 

Z 2,000   = (2,000 ‒ 1,800)/380                             = 0.53 
                                                           = 0.2019 

 = 0.4429 + 0.2019                                = 0.6448    64.48% 

 
2.5 
 

 
 
 
 

 
        
        =   (29.55/25) * 100 

          = 118.20     

(p1/p0)
(W)

126/90   = 1.40 12 1.40*12    =  16.80 
387/430 = 0.90 6 0.90*6      =    5.40 
735/700 = 1.05 7 1.05*7       =    7.35 

  ∑W  = 25 ∑W*p1/p0 = 29.55 

 
2.6 
 

 
 
 
 

( ) 450 

(28,000 ‒ 24,000)  4,000 

( ) 1,800,000 

( ) 7,200,000 
( ) 5,400,000 

 
 
 

    2.4.2 
322/ 328‒332 

    2.6.1
52‒53 

    3.1.3
407 ‒ 409 
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2.7 
 
 

 

 
 
  

: 

A = 18,000/500 36 

B = 25,000/2500 10 
C = 20,000/2000 10 

56 
( ) 5,600,000 

( ) 100,000 

B 
 

(100,000*10)/25,000 . 40 

 
2.8 
  

 

“Q”  “P”  

PQ = 570,000 

P (Q-4) + 8,000 (Q-4) = 570,000                

(Q-4)(P+8,000) = 570,000                           
(570,000 + 8,000) (Q – 4) = 570,000        
        Q 
570,000 – P   =  8,000                                   (1) 
 (Q – 4) 
570,000 – P   = 0                                            (2) 
     Q 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

    3.2.2
414 

 6.1.1

607‒611 
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2.9 
 

 

 
 
 
 

. 60 

A  = .  180 

A  = .  180 ‒ .  60 = .  120 

A  = .  120 * 8,000 = .  960,000 

B  

= 250Q – 0.005Q2 

= 250 ‒ 0.01Q 

 MR = MC, (250 ‒ 0.01Q = 60) 

(Q) = 19,000 

(P) = 155 

10,000 ; 

(P)  = 250 ‒ 0.005 * 10,000 = 200 

B : (200 ‒ 60) * 10,000 = 1,400,000 
 

B 200  
 

 
 
2.10 
 

 
 
 
 

‒

 
800 
200 

1,000 
(100) 
900   

( )
 ( )  900 * 0.5  

 (450/0.9)* 10% 
 (135*0.5)/0.9  

 

 
450 
50 
75 

575  

  (575 *450)  
 

. 258,750 

 
 
 

    6.2.1
624

 7.3.1
650 
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2
03 

 

 
 
 

(a) EOQ   = √(2* )/  

EOQ = √(2*120,000*20,000)/(400*15% + 400*2%) 

EOQ =   8,402    

( )

  = 120,000/5,000 * 20,000 =        480,000.00  

= (5,000/2) * 68        170,000.00  

       650,000.00 

 ( ) 

 = 120,000/8,402 * 20,000 =        285,646.27 

 = (8,402/2)* 68        285,668.00  

  571,314.27 

            . 78,686 

EOQ 78,686  

(b)  

= 800 *  45  

 =       36,000  

(c) 

( )
( ) ( ) ( )

AVCO

( )

50 40,000 40,000 2,000,000 50.00 

 20,000 20,000 1,000,000 50.00 

52.10 50,000 70,000 3,605,000 51.50 

 20,000 50,000 2,575,000 51.50 

60.25 20,000 70,000 3,780,000 54.00 

 25,000 45,000 2,430,000 54.00 

   45,000   2,430,000   

 
 

( 10)

1.2.2
145/148/168 
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04 
 

 
 
 
 
(a) 10,000 27.85%

10,000 x (1+27.85%) / 12

1,065.42

10,000 1,065.42 12

10,000 /1,065.42

( ) 9.386 

4%

1.04^12 ‒ 1 = 60% 

(b) r,    

(1+r)^12 = 142.5% 

r = 3.00% 

3% 12 = 9.954

10,000 10,000 / 9.954

1,004.62

10,000 x (1+R)/12 =     1,004.62 

R            =       20.55% 

( 10)

4.1.1 
441/489‒490 
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05 
   
 

 
 
 
 
(a) 
 
 
 
 
 

 ( ) 10,000 12,000 

 ( ) 

A
 

5,280,000 

B
 

1,200,000 

 
1,200,000 

 
2,000,000 

 
9,680,000 

 
(b) 
 
(i) ( ‒ )

 A  = 5 * (4.5 * 12,000) = 270,000 ( ) 

 B   = -5 * (2 * 12,000) = 120,000 ( ) 
 
(ii) ( ‒ )

A   =(4 * 12,000 ‒ 4.5 * 12,000)* 110 = 660,000 ( )

B    = (2 * 12,000 ‒ 2 * 12,000)* 50 = 

(iii) ‒  
= -10 * (0.6 * 12,000) = . 72,000 ( )

 
(iv) ( ‒ )  
 = (0.5 * 12,000 ‒ 0.6 * 12,000)* 200 =  240,000 ( ) 
 
(v) ‒  

(2,000,000 ‒ 2,300,000) = . 300,000 ( ) 
 
(c) 
 
●  

●  

●

●

●  
 

 
 
 
 
 
 
 
 
 
 
 
 

( 10)
 
 
 
 
 
 

5.2.1/7.4.1
679/532‒570 
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06 
   

 
(a)   
(i)  
 

    = 980 ‒ 480 = 500 

= 26,000 ‒14,000 = 12,000 

= 12,000/ 500 =  24  

 = 26,000 – (980 * 24) = 2,480  

(Y) (e)

Y  = 2,480 + 24e 

(ii)
 

  
            =   (5*197,600) – (81*10,750) 
                                  (5 *1,521)‒ (81*81) 
              =  117,250/1,044    
           =  112.31 
    

        
              =   10,750     ‒   112.31 * 81 
                        5                                  5 
                =  2,150 – 1,819.42 
            =  330.578   
 

Y = 330.58 + 112.31 X 

 
(b)   

( ) 
 

900
2,480 + 900 * 24 24,080
24,080 * 600 14,448,000

330.58 + 112.31 (24,080)
330.58 + 2,704,425 (2,704,755) 

11, 743,245

      

( 10) 
 

7.2
719 ‒ 720/724 
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3
07 

 

 
 
 
 

(a)      
 

W1   

 ( )

= 4,800,000 * 3/8 = 1,800,000 

720,000 1,080,000 

  ( )
= 4,800,000 * 4/8 = 2,400,000 

600,000 1,800,000 

 ( ) = 600,000 180,000 420,000 
 ( ) 1,500,000 3,300,000 

 
(i) 1 

=  
= 3,300,000/   2,500                                                               =  1,320   

(ii) 
 

 = 1,500,000/100             =   15,000 
+   = 1,320 *10                                                  =    13,200 

=   28,200 
 

(VAT )    = (43,700/1.15)                                    =   38,000 
 

 = . 38,000 ‒ . 28,200                                              =   9,800 
= 9,800/28,200                                            =   34.75% 

 
 

(b) 100%
 

( )

 = 38,000 * 100 3,800,000 
 *  

= {2,500 ‒ (100 * 10)* 90%} * {1,320/ (100%-25%)} 
                                              = 1,760 * 1,350 

2,376,000 

 

                                              = {2,500 ‒ (100*10)*10%} * {1,320*(100%+25%)} 
                                              = 1,650 * 150 

247,500 

 
                                               =  1,760 * (100%+20%)* {1,000*(1‒ 0.794)} 
                                               = 2,112 * 206 

435,072 

6,858,572 
(4,800,000) 

2,058,572 
 = 2,058,572/6,858,572  30.01% 

 
 

2.1.1/2.2.1
20/21/30 ‒ 32 
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(c)   
 

( )

                                             = 3,800,000 – {100*38,000*(100% ‒ 15%)}  
(570,000) 

                                             = {(100 * 10)* 0.7940 – 300} *(1,760 * 120%) 
                                             = 494 * 2,112 

1,043,328 

 473,328 
(%)   = 473,328/2,058,572  

22.99% 

 
: (32,300 *100)    = .  3,230,000 

: ( 150 * 1,650)     = .      247,500 
: (1,760 * 1,350)     = .   2,376,000 

( 700 *2,112)  = .   1,478,400 
                   = .   7,331,900 

       = ( .4,800,000) 
       = . 2,531,900 

 ( . 2,531,900 ‒ . 2,058,572)                      = .    473,328 
 ( . 473,328/ . 2,058,572 * 100)  = 22.99% 

 
 
(d)   

 
 
(i) .   

 = (300+ 50) * (52,000+500)                                        = 18,375,000 
 = (300 ‒ 50) * (52,000 ‒ 500)                                         = 12,875,000 

  = 300 * 52,000                                              = 15,600,000 
    = 15,600,000 – 18,375,000                         =  2,775,000 

(ii)  = (3,980,000+2%) +(2,750,000+6%) +(1,875,000+5%) 
                                                                                                                               = 8,943,350 

 = (3,980,000-2%) +(2,750,000- 6%) +(1,875,000-5%) 
                                                                                                                                = 8,266,650 

 = (3,980,000+ 2,750,000 + 1, 875,000)       = 8,605,000 
      = 8,943,350 – 8,605,000                                = . 338,350                                   

 
(e) 7

  ( )

 18,375,000 
(8,266,650) 

 
7  = 10,108,350 * 7  

10,108,350 
70,758,450 

 

( 20) 
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“ ˜”

“ ˜” suggested solution

²
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